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9. Let ® be a mixed Poisson point process with the driving measure Y - A, where Y is a non-negative random
variable and A is a locally finite diffuse measure. Determine the covariance cov(®(By), ®(Bs)) for By, Bs € By

and show that it is non-negative. s @ (BB + (I' L%'l 0‘3,_)
wa lewow: cov(T(,), Esy= .
L\@ (&~ B) + L8N 2,)
el g@) = €[ elaa)| ¥ I+ E (7A@ = A =Y

(Y -/\m)

€dle) = E(el&td) |7V - ..

A
//—7 &CQUJJI‘Q: EP/ £ X

2 —_—
it §(B) = AN(BY - wmly + A(B) &/
. <
variawncee of oxPecbation 0§ ocond(fiowal

conmd. "‘*P<C'éqi‘\'0n Voo G vEL

cn (@R, By, ))=er(E(3,53),8(8N BY) * e §L8aB) B (RenBa) ) Feur (T(382), DR
hy reS @(‘;4 q@z\)

ASSuwnR A B <© S 86\\6 : L€7) N\ <A> AC%)

N—e—e——

cov (BN o) = £ 5CAElR) - (€5 LEDS))

N Z
{ndependent uwdeyr Ve cound itipwn | @CA) ’V\-)o(

=E[ 7AW T A®Y) - ALy A (R EY?
e (T(pY, B()) = ACYA(BY - pel2 T ABAB) A(E,)

_ _/__/__/,_/\-v———/_—‘\
e (D(Ba), §(‘5J)—‘ ALY [/\CBABQ ./\(\‘5_&\@4) r A (84 \?Z\/\(BAQBZB"
+ /\(—\32\‘34'\ A\ (6461 BZB -+ /\Lg,l(l@z:) /\(,g/\(] B.LB—I + /\Cg"r\g )'F_E\/ =

1 L

- /\(% 1 n B:L) /\(B'Z\)


JD
Tužka

JD
Tužka


st [ AEDAEY] FEY AlgnE) = o

Zo Z o ce 2o

meles sange ¢+ 2 IBY g gl B B3,y o lady 4o ke

g 0 b '
high Zov vecamtn Y i likely 26 be lm‘%tn.
Ceven L S, 8, eL;céomt D


JD
Tužka




